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3 point problems

el sas (6L AU BN P61 £ e sl SV (3, OF 2y 552 ol 2013 sadl slle
¢ 3000 5 2001 cn axd) )l g dpmoldl ol SUS ]l
The number 2013 has the property that its last digit equals the sum of the first three.

How many year numbers have this feature in our millennium (starting in 2001 and
endingin 3000)?

(A) 24 | (B) 36 | (C) 27 | (D) 64 | (E) 48

(il 25,8 5o ailod) O -1y L3, O~ U8 i ewt WE +ARE =COOL #stas 21S™ o

¢ W.E o ol wld aed aol a L

In the equality WE + ARE = COOL the letters denote the digits of positive integers
(different letters denote different digits). What is the smallest value that W - E can
take?

w2 | ®3 | ©6 | ®8 | (10

ts sl phg o L pEQRE365-c iz ol Blbas gy pSY

Let p and g be two prime numbers such that p2 + q2 =365.Then p + q is:
(A) 20 \ (B) 21 \ (C) 22 \ (D) 23 | (E) other

D PO Jol 3. PP4g=2018 et 0US Oae q 5 p oS

Let p and g be two prime numbers such that p4 +q=2013.Thenp +qis:
(A) 45 | (B)107 | (©)9%81 | (D)1999 | (E)other

1 ) .
DSl X X2l OB X =27 518
X2 +1+x

If x = 22913 then

1
X —UX2+l4
X2 +1+x

is equal to:

(A) -1 | (B)O | 1 | (D)22013 | (E) other




¢ ol pb Obupmes ks Y 5 X o Y +3X = 2013 @slall 0id (X,y) ol sas s | 6
How many solutions (x,y), where x and y are non-negative integers, does the equation
Y+ 3x=2013 have?
(A) 1 | ®671 | (@©672 | (D673 | (E)2013

¢ e AU NI b amb sl @ b, c ol et b2 =c® 5 a’ =b <513 7

If & = band b? = &3, where @, b, care natural numbers, what relation is correct?
(A)c=a | (B)c=a" | (©c=a" | (D)c=a" | (E)c=a"

e s (S8 20242202408 274 12302 1 2012 I sl AU et it | 8
¢ Slladl ads Ak (3 7 el

The result of the following calculationis 2012; 2° —2% +2% —22 423 2% 4 +2% 22
How many subtractions have been donein this calculation?

(A)2012 | (B)1005 | (C)1006 | (D) 503 | (E) 502

¢ 201325:201326- 201317 : sl alla 7 3 51V 13 o o) RISV sus 57| 9

How many zeros are there at the end of the number 201325- 201326 - 201317 ?
(A0 | (B)1 | €2 | (D)4 | (E)8

o 555 slas1 ) b, be, ca A ored s r 15U sleVl wa ol Wb a+b +c =273 0 13 | 10
$a,b,C a4 ke pally adisll pB Y plisan

If a+b+c=22 3, what s the value of the sum of following two-digit numbers: ab, bc, ca(the
numbers are formed using the distinct nonzero digits a, b, ¢)?

(A)132 | (B) 48 | (C) 72 | (D)51 | (E) 37

Calculate/ ) | 11

J+CHD+HE+D+C + )

t 1 1 2 1,3 1 4
§+(5+_)+(§+Z)+(_+_)+<_+

1 )
)+ +
3 4 5 5 6 6

A)71 | (B) 8 | (©85 | (D81 | (E) 9.5




¢ 2012 e 0ad syl 3 WU 47,52 I3 ¢ 100 ety 5 A dmladl Gl (3 5 e s S5 | 12
s i gy g 201 L) a b L 230 47.53 0,08 ooy a2 W) 8L BLadl a3 et Sl
¢ aled b W
InLondon2012in 100 m freestyle swimmingthe winnerwasNathan Adrianwith 47,52 sec, on
the second place James Magnussen with 47,53 sec. What was the estimate different in finish
between them?
(A2mm | (B)2cm | (©2dm | ®)2m | (E)20m
: Calculate the value of [ s L |13
4 11 1 1
Dt —— 4+ 2002(— + —)
2006 2013 2006 2013
(E) None of
2017 2017 2017 i
(A) (B) ©) D) 2 the previous
2006 2013 4019
G b o
Sl b U OYsllan F | 14
Which ofthe followingcalculationsisincorrect?
(A) 555+555—-55—55=1000
(B) 2-2-2-2-2+2.22-22=1000
(C) 444 +444+4.-44—4.4-4=1000
(D) 777—77—7-7+7-7-7+7=1000
(E) 888+88+8+8=1000
le,:-ij Z\.CL»/VJ{ 700 2\.&}“\4 C))Lw U""i)b &l(\bMTwSﬁUﬁ QP&J\J ¢ S.JQJ..& 3.::},0- CQ)M 15

bl gl oy LWV 5 5Uall L aela/ ST 900 a5 e ol el L) dgomze )b oo conlil 30 i

€ J o (013 el L) e ) 5 208 N1 B s 2dd oSG 3285 36 B el (ol
A heavy southern wind is blowing. Therefore an airplane is flying from Amsterdam to Paris
with a velocity of 700 km/h. Another airplane is at the same time flying from Paris to
Amsterdam with a velocity of 900 km/h. The flight Amsterdam-Paris takes 36 minutes. How
long doestheflight Paris-Amsterdam take?

(A)18 min. | (B)20min. | (C)25min. | (D)28min | (E) 36 min.
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a and b are two digits. Their product ab X ba is a number of four digits. It ends on 3, so
ab x ba = ...3. What is the first digit of the product

16

Al [ ®m3 | ©5 | ™7 | (B9
[ ] 7
J)fcﬁj)wuc}ﬂ24w0)§ﬁpér_@wgﬁ‘jjg—j_ J@\\iﬁycwwmgv\j
€IS G il Gl oy S a b oS el § S anks
[]
Lisa has six pieces like the one in the picturel . She tries to fit them in the figure with 24
squares. The first piece Lisa has placed already . At how many ways she can
finishthe job?
W2 | ®3 | ©4 [ ®5 [ (E)S
1313,13:0,13=..... 18
(A101 | @®111 | (©1010 | (D)1111 | (E)10101
¢ 7 Lo abad (57 .@y@@wogﬁoiﬁg}m) ypall 3 LS 135 aylj ols ws cLad | 19
. 450 ..
2 &) %

950 o

i

\

|
N7
*130
150

If a footpath makes a turning, you’ll need special pieces. Such a piece makes an angle of
135°. How much of these pieces you need to make a closed circuit?

(A) 6 | (B)8 | (€9 | ©O10 [ (@®12
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The average number of children in five families cannot be:

A02 | ®12 | @©22 | M24 | (B)25

20

16 <ol 80 &1 (3 2 JST o glall g 8l s 2l e Rl Rl 3 oY 32 80
G W e oY 8t B A2 3 AR e O 2 O gy (U 161 s g

O3 AW an Y1y (Sl ) O sl U AT (3 05 P aslad) L W S B Y A
JSI UL Jaae ga e Sl 0 gl Sl Gl 3 015U QWY 5 ¢ Jedl Gl O gk Sl ) 3
¢ sy

32 tennis players are playing a tournament. In the first round 16 of them play against the 16
others. The losers are eliminated. In the second round 8 winners of the first round play
against the other 8 winners. The winners of the second round play the quarter finals, the
winners of those quarter finals play the semifinals and finally the final is played. What is the
average number of games per player?

(A)31/32 | (B) 1 | (©112 | (D)31/16 | (E) 2

21

$11 e dandd) Ly an ) 06,3 0ds
2013 is divisible by 11 and is made of the four digits 0, 1, 2 and 3. What is the smallest such
number?

(A)1023 | (B)1032 | (C©)1203 | (D)1230 | (E)2013

22

JUsae jaol o b 11 e andd) iy o 0,1,2,3 2) &l o1 dn i e 0556 2013 sl

Siolhl oda 3ig 4
2013 is divisible by 11 and is made of the four consecutive digits 0, 1, 2 and 3. What is the
smallestnextsuchnumber?

(A)2031 | (B)2103 | (©)2130 | (D)2301 | (E)2310

23

¢ Lod j\ff ) slaed) o L*gi
Which of the following numbers is the largest?

(A) (=1 | (B) (=12 + | (C)(=3)"2+ | (D) (—2)2"2+ | (E)(—1)*+

(_1)2013 (_3)2013 (_2)2013 (_1)2014+

(_ 1)2015

24
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Canly Job s
The ratio of a head size to human height depends on the age of a human. It can be
estimated approximately using the equation H=9:(2a+36), where H is the head size and a
is the age of the child. What part of the total height does a head of a 9-year old childtake?

A4 | ®15 | ©ue | U7 | (E)U8

25

wl’&ﬁiﬂpﬁtw 25 Ll oS o o o (0 6wz yey o 11 Wb (KA Lt Cade
¢ Caid) s Jaw o)

Flat rectangular roof, 11 m long and 6 m wide, got covered with 25 cm thick even layer of
snow. How many m?3 of snow fell on the roof?

(A) 8,25 m> (B) 16,5 m> (C) 66 m> (D) 825 m? (E) 1650m3

26

o 0lS 1000 3 Al o Ll b7 (S5 .193:7 v ) olos 3 sy bl 28 oy il 1S 13
¢ ~Jlsle

The sea water contains the amount-of salt and water in the ratio 7: 193. How many
kilograms of salt is therein 1000 kg of sea water?

(A)35kg | (B)186kg | (C)193kg | (D)200kg | (E)350kg

27

¢ [AB]=20cm of culs 13 25k i dilail) dmlone 8 L
What is the area of the grey region if [AB]=20cm

A

(A)2ncm® | (B) 10mem® | (C)20mem® | (D) 100mem® | (E) 120mcm®

28

S s,;w\z_pu\g;.@&mu\g; B.l W 3 auldl ol g%@g,\j)@&\ Oleza| o>
il aslldl 3. asld) 3 olaal ol sas Gins Y 4V sas y?%bw\yau\;ﬂlS
L;QM\M;Q\@T'JL.JWuw\éou»J;YﬂuwC,_Jw@J 3l asldl o 7 2 5,

29
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All the students from the 9th grade from College Kangaroo attended
an exam in room at 9 o’clock. At 10 o’clock, 15 girls left the room and
the number of boys remaining in the room was twice the number of
girls remaining in the room. At 11 o’clock, 31 boys left the room, and
the number of remaining boys and remaining girls in the room became
the same. The total number of students from the 9th grade from
College Kangaroo is

(A) 33 \ (B) 50 \ (C) 80 | ()100 | (E)108
.0 b =35, f=40", y=55 o 15 |30
Ifa=35",8=40" and y=55" then 6 =
(A) 100 (B) 105 (C) 120° (D) 125- (E) 130°
Ll ¢ got ae - g lae ool BN LI g sast o) Blizs Cdzall 2101 Ll ¢ szt il sa Lo | 31
¢ olexll al=ldl
What is the sum of the interior angles of a triangle plus the sum of the interior angles of a
quadrilateral minus the sum of the interior angles of a pentagon?
(A)O ° (B)45 ° (C)90 ° (D)135 ° (E)180 °
1t L ge AIST sled X,Y,z2 9|32

. X xy =14,y xz =10,z xx =35
fX+Y+Z w3l

X, Y and z are positive whole numbers;
xxy =14,y xz =10,z xx =35
What is the value of X +y +2 ?

A) 10 | B)12 | ©14 | D5 | (E) 70

11
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Mary reads quickly but her daughter reads far more quickly. Mary’s daughter reads twice as
many words as Mary in one third of the time. Mary can read 120 words in a minute. How
many words can her daughter readinone minute?

(A)240 | (B)320 | (©)480 | (D)720 | (E)1440

33

EOSCIRE
What is the value of
10 +8%+6°-9* 7252

A6 | (®45 | (51 | (D65 | (E)85

34

?C’M ENTN “"BJ?C)“; @2 S gl Y AU :\.,\;;Y\JAL;T
Which of the following is not equal to the product of the sum of its digits and a
positive integer?

(A)512 | (B)444 | (C)410 | (D332 |  (E)132

35

¢ 1 gl Kl amlos Ll OF cade 13) Jlall o 4 aslos & L

In the picture, the big triangle is equilateral and has area 1. The lines are parallel to the sides
and divide the sides into three equal parts. What is the area of the shaded part?

1 1 3 2 3
() 3 ®) 5 © = ©) 3 ® 7

36

5 WSS (@*a)*(h*a) cowy aFb=a+ 2D Of Lot s d e hee SGL U culs
¢ domd)

Masha created a new algebraic operation: a*b =a+ 2b, and then calculated
(@a*a)*(b *a) What was her result?

(A)7a+2b | (B)5a+2b | (C)3a+b | (D)Sa+bh | (E)7a+b

37

12




OSE b 3as =T s L .40, 42, 33, 35, 26, 28, ... LU Laedly Sl e 136 2L G, o6
¢ 3l S of
Following a pattern 40, 42, 33, 35, 26, 28, ..., Tulio writes down a list of
numbers. Which is the last natural number that can be written by Tulio?

A9 | (B) 6 | (C)5 | D)4 ] (E) 2

38

Carmen should calculate the sum of all the divisors of the number 18. Which is the result
obtained by Carmen?

A) 42 | (B) 41 | (C) 39 | (D) 21 | (E) 12

39

OIS O g gl e Q\JYG)T};L@, Ol S il ol S MW ge) o o S Ll i Lyl
OIS gy Ol o sae BT 0SS LA L) i) 095 5,5 oy Joadll 3 A IS g 515 5
SO b oo i soend) O SO e 5 S O asTld

There is a bag with 2 red balls, 3 blue balls, 10 white balls, 4 green balls and 3 black balls:
Every student of the class extracts a ball of the bag without looking. What is the least number

of children that should extracts balls of the bag, to be sureto have two balls of the same
color?

(A)2 | ®12 [ (©10 | (D)5 | (E) 6

40

spee Jo Joam 6 el i M L o g Bk 218U 1 el L)l OV oY1 U oW 3
oS sV e st 18T o o s e S5 (Ol oVl e ki ek G n dor e Y 6T LS ol ool
¢ Ll s (31 > Y1 s ol sus
In a meeting of parents of the sixth grade, they chose a deputy. Five candidates were
proposed. The candidate who won had got 10 votes and there were not two candidates with the

same number of votes. Every candidate obtained the greater number of possible votes. Which is
the number of parents who were presentin the meeting?

41

(A) 34 | (B) 40 | (C) 30 | (D) 36 | (E) 16

Wi el $llsy ABCD g5l (63l pn pony 5 e K25 6 e 3 A, B,C b5 &3 1l
et Sl sl 3 Bldlsae (S D 0 W W e awl

On the plane, we have three points A, B and C that form a triangle. With the triangle as a
base, we want to draw a new parallelogram, by adding a fourth point as a vertex. How many
different points on the plane can be chosen?

A1 | (B) 2 | (C)3 | D4 ] (E)5

42

13
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Vero, Cheli and Pao draw the polygons that can be seen in the figure. They paint their
polygons as quick as the others. The square of Vero has 9 cm of side, the rectangle of Cheli 12
by 8 cm and the rhombus of Pao has diagonals of 10 cm and 16 cm. In which order do they
finish the polygons painting?
(A) Vero, Cheli, Pao dast ¢ caat (A
(B) Vero, Pao, Cheli ez canl (B
(C) Cheli, Pao, Vero NES PV O
(D) Pao, Vero, Cheli e ant s (D)
(E) Pao, Cheli, Vero sl cue (Ey

Chygall @ N bl e o 2 Y aakadll OF ot DU e S sue ST ek W) padl) e 6T | 44

Which of the following pieces covers the largest number of dots in the table? (Piece must lie
completely on the table.)

(A) (B) (©) (D) (E)

S » A T el 4

14




4 point problems B LUl s

b gaelal o 8 el o 2013 sudt Lo 055 1 an Y1 B30 e 1S slueY ST Lss™ | 45
€5 ) edl o Cpdline e O G5 ST
All4-digit positive integers with the same four digitsasinthe number2013 are written on the
blackboardin anincreasing order. What is the largest possible difference between two

neighboring numbers on the blackboard?
A702 | ®703 | (©693 | (@793 | (E)198

sl 61 g sat Ko il ST 0 s ASB >C o ABC p5,1 836 s 0,5 sus Ll | 40
¢ 9-ABC
For a 3-digit number ABC with A > B > C,what is the largest possible sum of digits of the

number9-ABC?
(A) 9 | (B) 18 | (C) 27 | (D) 36 | (E) 45

Slalsal e S I CE R R sl dubY . e s Sl ys sl | 47

Francis says "Each of my children has as many children as siblings (sisters and brothers) ; and
my age is the number of all my children and grandchildren”. Knowing that Francis is
between 60 and 75, how old is he?

(A)62 | (B)64 | (C) 67 | ©®70 | (E) 72

DS abe 37 S ik | 48

The cube root of 3% is equal to

(A) 3° B) 3% ) 3 (D) 3* (A) (V3)°

Dy lly 15° e aendl La 30% sadl | 49
30% divided by 1519 s equal to
A1 | ®10° | (©6"® | @2 | (g 215"

15



b ol SN e o WS 12,24,19,24 » ADF, DBE, DEF, FEC <l L= 50
¢ ABC &kl
The perimeters of the triangles ADF, DBE, DEF, FEC are 12, 24, 19, 24 as shown.

What is the perimeter of the triangle ABC ?

(A) 38 | (B) 41 | (5)43 | (D) 47 | (E) 49

O ol g5l G A Camie (3 w5 4nly s cABCD wass 8 ABCDS ¢ b1 s 5 olisf aSTUI 3 | 51

C G ey 2L ey ety (5 el B W1 ey Janl1y eI a g gl s OF Gl oMl a5 AB
¢ sk (o o o\;afﬂ\[ oUsTQU\.}!ygB
In the cube below you see a pyramid ABCDS with base ABCD, whose vertex S lies exactly

in the middle of the corresponding edge of the cube. You look at this pyramid from
above, from below, from behind, from ahead, from the right and from the left. Which

view does not arise?

(A) (B) (©) (D) (E)

Q@T@)Jédﬁw)@yb—%M}Jd}ﬁa@)).).kﬁrf 52

How many two-digit even numbers have the property that the sum of the two digits is also

an even number?

(A) 50

(D) 20 | (E) 16

(C) 40

(B) 25

16



. ¢ 53
.DFC 43\ s wxlc AE = BD = A?B O plxi ABC ¢ 2V Glaze clie (3
. . AB .
In equilateral triangle ABC we know that AE = BD = ? What is the measure
ofangle ABC'?
B
D
E
F<— C
A1 | ®15 | ©30 | M5 |  (E)60
€10 (sl syt pB,T A 0 0,50 50 o571 54
How many three-digit numbers have the property that the sum of the digits is 10?
(A)10 | (B) 20 | (C) 54 | (D) 81 | (E) 90
55

sl as e slael 10 52 J Y Ll ,s)@\éw@:ﬂ}@%;wfa})}gmw
MTJ)%\M\JJJ&J{%&\&&Q{J\Mfwéﬁk}w\@\é} 10 411
?M’&TQ@@J\:M\ﬁbc\&jéﬁb

Mihaela wrote on the chalkboard the bottom of the numbers triangle. loana begins to fill the
top rows as follows: on the superior row, between any two numbers on the inferior row, there

lies the sum of these two numbers. What number will be written on the top of the triangle?
2

3 5 7 17 19
1 2 3 4 5 6 7 8 9 10

(A)2012 | (B)2816 | (C)2826 | (D)1+9:55+10 | (E)55-10

17
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Sara wrote on the chalkboard the bottom of the numbers triangle. Maria begins to fill the top
rows as follows: on the superior row, between any two numbers on the inferior row, there
lies the product of these two numbers. What number will be written on the top of the
triangle?

(A)1-2-3-4.5.6

(B)V1.2°.3°.42.52.6

(C) 1.2%:3°.4° .5 .6

(D) 1-2°-39.4.5°.6

(E) 1.2°.39.49.5°.6

56

RESVRST AV ol ¢ et ks g g B AW aslad U dl, slael ds
SV odn e sds Jrol Loy Y s ol L 2434+5=4+6 oY aoldhl 3id 2, 3, 4, 5, 6
i)

Five consecutive positive integers have the following property: there is three of them with the
same sum than the sum of othertwo. E.g. 2, 3, 4, 5, 6 is good, because 2+3+5 = 4+6. Find the
other solution! Which is the smallest one from the five numbers?

A1 | B)3 | ©4 | ©O5 | (E) 6

57

Lkis ol 7 )l 38 Lo s SUIN Lk OB Cnady 0 0K e e 417 5 948 slueYl Las 13)
¢ Owedy e 0 S sl 3 L 948 Sl i

If we divide 948 and 417 with the same 2-digit number, the remainder will be the same. What
will be the quotient, if we divide the 948 with this 2-digit number?
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(A) 55 | (B) 32 | (C) 23 | (D) 16 | (E) 86
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In the large picture the grey area is bigger than the white area. The difference is some
number of squares as in the small picture. How much of these small squares is the difference?

(A17 | (B) 21 | (C) 25 | (D) 29 | (E) 33
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The teacher asked his 25 pupils about their hobbies. Each of the pupils has at least one of
the hobbies music, art or sport. 3 pupils only loves sport, 4 only loves music, 5 only loves art.
6 pupils loves sport and music, 7 loves sport and art and 8 loves music and art. The teacher

forgot to ask who loved all three of those hobbies. How many pupils loves all three of the
hobbies?

(A0 | ®1 | (C)2 | ®3 ] (E) 4
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In a 6x8-grid half of the squares are not intersected by one of the diagonals, as you can
check in the picture. How many of the squares in a 6x10-grid are not intersected?

(A) 28 | (B) 29 | (C) 30 | (D) 31 | (E) 32
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S point problems
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Different letters represent different digits; same letters represent the same digits. For
example, AABAB can denote the number 55757. If AB + BA = 187, what is the result of A - B?

(A)0 [ ®1 [ ©17 | ®5s% | (72
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We use black and white circles to build triangles such as in the picture. Every odd-numbered

layer consists of black and white circles, alternating, starting with a black one. Every even-
numbered layer is completely white. How many circles does the smallest such triangle with

10 black circles have

A1 | ®21 | ©28 | ™36 | (B4
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Three brothers want to visit a fair. Unfortunately, their amount of money seems to be
insufficient. Albert has 7 euro, Bert has 11 euro and Chris 17 euro. Their father gives the

three boys 10 euro together, after which the boys decide to divide all the money evenly. As
a result Chris has less money than before. How much?

(AJLJEUR | (B)2EUR | (C)3EUR | (D)4EUR | (E)5EUR
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Michelle has 4 skirts: a blue, ared, a green and a black one. She has 4 blouses: a blue, ared, a
green and a black one. Furthermore, she has 4 pullovers, a blue, a red, a green and a black
one. In the middle of the night, she wants to take some clothes from the cabin without
switching the lights on. She can’t feel the difference between a skirt, a blouse and a pullover.
How many clothes does she haveto take to be certain that she gets afitting collection of clothes
(i.e. of the same colour)?

A3 | (B) 4 | (C)6 | (D) 9 | B2
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The edges of rectangle ABCD are parallel to the coordinate-axes. ABCD lies below the x-
axis and on the right of the y-axis (i.e. in the fourth quadrant), see the figure. The coordinates

of the four points A, B, C and D are all integers. We calculate for each of these points the
number y-coordinate x-coordinate. Which of the four points gives the smallest number?

(A)A (B)B ©cC (D) D (E) depends on the rectangle
J:Ja:.w_U e eamy
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John has made abuilding of cubes. Inthe picture you see this building from above. In each cell
you see the number of cubes in that peculiar tower. When you look from behind, what do you

see?

BEHIND

sl Nw | a
N -L(J.N
4 .-‘.
N = NN

FRONT

(A) (B) © (D) E)
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This table with 12 cells is made by drawing 9 lines (5 horizontally and 4 vertically). Using 9

lines in a different way, 5 horizontally and 4 vertically, you will get a table with only 10 cells.
What is the maximum number of cells you can get if you draw 15 lines?

(A) 22 (B) 30 (C) 36 (D) 40 (E) 42
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An hairdresser cuts the hair of only boys and men. It takes him exactly 12 minutes cutting the
hair of a boy and exactly 20 minutes for the hair of a man. Today he has worked for exactly 8

hours. He has cut the hair of at least 7 boys. The hair of how many men was cut by the
hairdresser at most today?

(A) 10 (B) 17 (C) 18 (D) 24 (E) 40
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The clown wasthinking of a colour. Her friends tried to guess the colour. Their guesses where -
You are thinking either red or green. - You are thinking either green or blue. - You are thinking
either red or.yellow. - Youare thinking either green or yellow. If only oneguess was correct,
what-colour was the kangaroo thinking of?

(D) (E) the situation described is
yellow impossible

Ao U5 @ e S22

(A)red | (B) green | (C) blue

jg\\ J,,,4>'-\ J)J'\
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If 2¥ = 3, what is the value of 16* — 3?

(A) 6 (B) 13 (C) 24 (D) 78 (E) none of
the previous

G W 2N

71

fax 32 clln O plf G IS (65l andad gl AT o iy ) Ganadl oy d) a5 3 ST 8
¢ ol ST (s gl aabad oSG 2l >

At each break between lessons Maxim eats a candy. In five days there have been 32 lessons.
How many sweets has Maxim eaten within these days?

(A) 24 (B) 25 (C) 27 (D) 31 (E) 32
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In the triangle ABC, the median BE is perpendicular to the bisector AD. Find the length of AB if
AC=12cm.

(A) 4 cm (B) 6 cm (C) 7 cm (D) 8 cm (E) 12 cm
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The logo of the company GEO is a colored circle with the radius 4 cm with a white square
inside (as in the picture). How large is the colored area approximately?

(A) 18 cm? (B) 16 cm? (C) 14 cm? (D) 9 cm? (E) 5 cm?
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The cyclist covered 25 km distance at approximate speed of 20 km/h. How long did the
journey take?

(A)1 h 25 min. | (B) 1 h 15 min. | (C)1 h 5 min. (D)1h | (E) 48 min.
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If I take my age, subtract one, multiply the result with my daughters age | get the answer
2013. In which year was my daughter born?

(A) 1950 | (B) 1951 (C) 1981 | (D) 1980 (E) More information is

needed
o\,.)x,.uw\.gfcu;
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Roo likes long jumps. He never jumps less than 5 meters. In front of him there are three
bushes that Roo would like to eat shoots from. Two of them area at a distance of 5 meters
from Roo and there is a distance of 5 meters between them. The third one grows exactly in

between the two. What is the minimal number of jumps Roo has to take in order to reach all
the three bushes and return to the place he is now?
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(A)3 (B) 4 (C)5 (D) 6 (E) 7
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In a school there are 30 classes. All classes have 5 sport lession a week. The school has only 2
gyms. The lessions are from monday until friday, every the the same number of lessions in

both gyms. How hany lessions need to organize in a gym pro day, if all sportlessions want to
organize in the gyms?

(A) 5 (B) 10 (C) 15 (D) 20 (E) 25
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A die.is a cube with its faces numbered.from 1 to 6 (with dots). Numbers on opposite faces
add up'to 7 . A die lays on a plane as shown in the figure. A move consists of a rotation of 90
degrees around one of the edges of the lower face, until a new face touches the plane. There
are four possible moves named N, W, S and E, according as the die moves to the North, West,
South or East, respectively. If the sequence of moves W, N, E, Sis repeated 2013 times, how
many points are there on the upper face in the final position of the die?

N

(A)1 (B) 2 (C)3 (D) 5 (E) other
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The boundary of the region in the picture is the union of half-circles, each of radius 10 cm, such

8o
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that any two adjacent of them have orthogonal diameters. What is, in cm2, the area of the

(A) 1600 | (B)400m | (C)350m | (D)300m (E) A different answer
S5 e
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In the squares of the 5x5 chessboard integers are written so that the numbers in adjacent

squares differ by 1. We also know that numbers 3 and 11 are written there. How many
different numbers are denoted in the table?
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(A) 7 (B) 8 (€) 9 (D) 10 (E)11
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After reconstruction of the equipment labour productivity of workers at a factory has grown
on 25 %. Therefore the administration has decided to dismiss 20 % of workers. On how many
percent the volume of production has changed after that?

(A) has reduced on 5%. 5% i mins (A

(B) has reduced on 2,5%. 2,5% i ains (B)

(C) has reduced on 2%. 2% s mins (C)

(D) not changed. =5y (D)

(E) hasincreased on 5%. 5% i w5 (E)
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¢ A+0 =t s
Differentletters correspondto different digits and similar letters correspondto similar
digits:
K-A-N-G-A-R-O-0=4-5-6-7-8
Find A+ O.

(A) 5 (B) 6 (C) 7 (D) 9 (E) 10
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A series of positive integers has the property that each member of the series, except

the first one, is equal to the sum of the digits of the previous member. If the first
member is 20132013 and the last is one-digit number, find the last member.

(A)O (B) 1 (C) 2 (D) 4 (E) 5
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An electronic calendar shows the dates in the format dd.mm.yyyy as in the example

03.07.2009. How many times in the period 01.01.2001 - 31.12.2013 the digits of the day
and the month are exactly the digits of the year?

(A) 51 (B) 52 (C)53 (D) 55 (E) 57
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Ann, Bob and Clara participated in “Kangaroo” contest. Bob received 50% points less than Ann.

Clarareceived 50 % points more, than Bob. Ann, Bob and Clara received 270 points in total. How
many points received Clara?

(A) 90 (B) 100 (C) 110 (D) 120 (E) 140
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Winnie Pukh wantsto leave the house (marked Vonthe scheme), tovisitall hisfriends, to pass
each path connecting their houses exactly once and to return back to his home. On what path
he needs to leave the house?

(A)1 (B) 2 (E)itis

impossible to do
R.L:M :\&@l\
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Andy, Betty, Cathie, Dannie and Eddy were born on 20/02/2001, 12/03/2000, 20/03/2001,
12/04/2000and23/04/2001 (day/month/year). Andyand Eddywereborninthesamemonth,
Betty and Cathie were born in the same month as well. Andy and Cathie were born in the
same day of different months, Danny and Eddy were born in the same day of different months
as well. Who of these children is the youngest?

(A) Andy (B) Betty (C) Cathie (D) Dannie (E) Eddy
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There are 7 identical cubes and 7 identical balls. If the weight of 7 cubes together with 6 balls is
71 g but the weight of 6 cubes together with.7 balls is 72 g how much is the weight of one
cube?

(B)6g (C)7¢g (D)8g (E)9'g

(A)5¢g
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Julian has written 4 numbers, the second he wrote is 1 less than the double of the first number,
the third is 2 less than the triple of the second number and the fourth is 3 less than the
fourfold of the third number. The sum of the 4 numbersis 631. What is the first number?

(A) 16 (B) 17 (C) 19 (D) 20 (E) 22
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